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– extensional definition

• {-1, 1}
• {1}

– intensional definition
• {2n : n∈Z}
• {(m,n)∈R2 : y=0}

• �����

�����	��
– A = {x : x∉A}
– A = {x : x∈A}



��2�⊆ vs. ∈
• �	a≠b
– a   ? {a, b}
– {a} ? {a,b}
– b   ? {a,{a},{a,b}}
– {a}   ? {a,{a},{a,b}}
– ∅ ? {∅}
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!"4�index set

• So suppose we have a set I, and suppose 
further that for each α∈I there is a set Aα
corresponding to it.
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����index set�
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• if and only if                 .
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• if and only if
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• P(A)���������
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– P(A∩B)=P(A)∩P(B)
– P(A∪B)=P(A)∪P(B)
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• ��$&!����9�&�����
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• ��$1��0�
• |A�B|�������3�
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�8�Tips on writing mathematics
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